Time : 3 hours

I fAftpr 1 w3 fRustet Yire (A AL e dt) dare, Howet

STATE COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING (S.C.E.R.T.) PUNJAB, MOHALI

"3
UAe 9 fsussT a7 uifumr
National Means Cum-Merit Scholarship Examination

&
Punjab State Talent Search Examination

STATE LEVEL JOINT TEST-2021
IH Judt At uifimir-2021
7HS nisst (CLASS-VIII)

MENTALABILITY AND SCHOLASTIC APTITUDE TEST
WA GarsT M3 fefimt &t Garar yiftpr

Instructions for Candidates :

1.
2.

This exam is in two parts.

Part - is related to Mental Ability Test which consists
of 90 questions.

Part - Il relates to Scholastic Aptitude Test which con-
sists of 90 questions relating to three subjects listed
below :

(i) Science

(i) Mathematics

(ii)) Social Studies

Each question carries one mark. All questions are com-
pulsory.

You have been provided with an answer sheet (OMR)
for this question paper. Darken the correct option of
each question in the answer sheet (OMR) with black/
blue ball pen.

Rough work may be done on the blank space provided
for this purpose.

There is no negative marking in the test.

Do not use white fluid on OMR (Answer Sheet).
Half an hour extra should be given to Visually
impaired candidates only.

Max. Marks : 180 HHT: 3 uf&

& ma : 180
EHteerat ®et gefest
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PART-1 MAT)

Directions (Question 1 - 3) fossem (yas 1-3)

According to the specific pattern fill the blank spaces of letter ~ J& f&e ymst i@ »iug &3t fam 33319 wisAg I5 | 3931

series in the following questions: B UJ IJ6 el Bl §39 €T gE A |

1. _acca_ccca_accc_aaa 1. _acca_ccca_accc_aaa
(1) acca (2) caaa (1) acca (2) caaa
(3) ccaa (4) caac (3) ccaa (4) caac

2. b_abbc_bbea_bcabb_ab 2. E’l—)abbc—bbca—bcabb—ab -

acaa acba

(1) acaa (2)  acha (3) cabc (4) cacc
(3) cabc (4) cacc

3. __aba__ba_ab 3. __aba__ba_ab
(1)  abaab (2) abbab (1) abaab (2) abbab
(3)  baabb (4)  bbaba (3) Dbaabb (4) Dbbaba

Directions (Question 4-13) There is a number/letter serics fOITH(YAS 4-13) It &3 yme' K9 £ wiamiug &3t
following a pattern. One place is left blank. Find out the correct &=t aret I, faAe »ig/ niugt &g aet Ay J1fen Ao §

answer from options: s 39 9U 3 3T § UTT o9 Bt At €39 & 9= 9
4. 41,43,47,53,59,........ 4. 41, 43,47,53,59,.......

1) 6l () 63 (1) ol (2) 63

(3) 67 4 69 (3) 67 (4) 69
5. 2,3,5,8,13,21,34,.... 5. 2,3,5,8,13,21,34,....

(1) 41 (2) 53 (1) 41 (2) 53

(3) 55 4 59 (3) 55 4) 59
6. 1,9,17,33,49,73,...... 6. 1,9,17,33,49,73, ...

I 85 2 87 (1) 85 (2) 87

3) 93 4 97 (3) 93 4) 97
7. 720,120,24,6,2,1,..... 7. 720, 120, 24, 6, 2,1, .....

1 o ) 1 (1 o (2)

3 2 4) 3 3) 2 4) 3
8. 0.5,0.55,0.65,0.8, ..... 8. 0.5, 0.55,0.65, 0.8, .. ...

(H 09 2 1 (1) 0.9 (2) 1

(3) 0.1 (4 095 (3) 0.1 (4) 0.95
9. 3,3,6,18,72,....... 9. 3,3,6,18,72, .....

(1) 216 (2) 288 (1) 216 (2) 288

(3) 360 (4) 432 (3) 360 (4) 432
10. 3,7,15,31,63,..... 10. 3,7, 15, 31, 63, .....

(1 117 2) 127 (1 117 (2) 127

(3) 131 4 9% (3) 131 4) 94



11.

12.

13.

BD3,GIS, LN13,QS 18,.....
(1) VX23 2) VY23
(3) WyY28 4) Xz25
11,12,16,25,41, .......

(1) 55 Q) 66

3 77 4 33
2,-4,8,-16,32, ......

(1) -64 Q) 64

(3) 48 @) 48

Directions(Question 14-18)
Find the wrong/odd number or term from the given questions:

14.

15.

16.

17.

18.

19.

20.

21.

53,59, 61,69,71,79
(1 53 2) 59
3) 69 @ 71

64,121,100,225,324, 484

(1) o4 (2) 100
(3) 324 (4) 484
() BCD (2) NPR
(3) KLM (4) HGF
(1) 13-19 (2) 19-25
(3) 23-29 (4) 41-47
cx, fu, iq, lo, ol, ri

(1) fu ) iq

(3) ol 4 o

Multiplication is related to addition in the same way

as divisionis related to......... ?
(1)  Subtraction (2) Remainder
(3) Divide (4)  Quotient

Choose the word which is least like the other words

in the group?
(1) Rain (2)  Earthquake
(3) Storm (4) Riots

Choose the word which is different from the other

words in the group?
(1) India (2) Islamabad
(3)  SriLanka (4)  Nepal

11. BD3,GI18,LN13,QS 18,.....
(1) VX23 2) VY23
(3) Wy28 (4) Xz225
12. 11,12, 16, 25, 41, ......
(1) 55 (2) 66
3) 77 (4) 33
13. 2, _4, 8a _16, 32, ......
() -64 (2) 64
(3) -48 (4) 48
fssem(yms 14-18)
Jo i3 yme' f*9 a83/249T nig 7 ue 92
14.  53,59,61,69,71,79
(1) 53 (2) 59
(3) 69 4) 71
15. 64, 121, 100, 225, 324, 484
(1) 64 (2) 100
(3) 324 (4) 484
16. (1) BCD (2) NPR
(3) KLM (4) HGF
17. (1) 13-19 (2) 19-25
3) 23-29 4) 41-47
18. cx, fu, iq, lo, ol, ri
(1) fu 2 iq
(3) ol @ lo
19. fae o= = Adu A9 &% I, 8R 397 I9T T AAT
far 5% I?
(1) uez® (2) gt
(3) 3@ (4) 3IIEH
20. I H=E gE A ITUT Tl ATt 5 fan 39 5
TyIT I
(1) Z9ur (2) B
(3) 3> (4) =
21. BIH=E gE A ITUT gl ATt 5% fan 3T 5

THIT I
(1) 3393 (2) fersna=
(3) H&ar (4) d3Us



22.

23.

24,

25.

26.

27.

28.

29.

30.

Which of the following word can not be formed
from the letters of the word:

‘INFRASTRUCTURE’
(1) RESTRAIN (2) FRACTURE
(3) CHARTER (4) NATURE

Which of the following word can not be formed
from the letters of the word: ‘ORGANISATION’
(1) NATION (2) GRANT

(3) RECOGNISE (4) SATAN

Which of the following word can be formed from
theletters of the word : ‘IMMEDIATELY’

(1) DIALECT (2) LIMITED

(3) DIAMETER (4) DICTATE
If+=-,-=+,+=x,x =+ then find the value of
2+40%x20-8+5

1 17 2 7

3 27 @4 5
If+=+,-=x,+=4, x=-then find the value of
16-8-4+2x4

(1 16 2 28

3) 32 4) 44

IfBLUE =160, Then BOOK="?

(1) 43 2) 172

(3) 162 4) 182
IfONE=15145,Then TWO=?

(1) 12022 (2) 20211

(3) 202315 (4) 202215

IfZ=52,ACT=48, Then DOG="?
() 25 2 52
(3) 42 4) 62

In a certain code language ‘FASHION’ is written as
‘FOIHSAN’, How can ‘PROBLEM’ is written in
that code language?

(1) ROBLEMP 2)
(3) PRBOELM 4

PELBORM
RPBOELM

22.

23.

24.

25.

26.

27.

28.

29.

30.

A wEe g | I3 a8 "ee T wivgt 3° 5dt afenr

Ji

‘INFRASTRUCTURE’

(1) RESTRAIN (2) FRACTURE
(3) CHARTER (4) NATURE

Al mE 93 A I3 aE mEe © wiugt 3 a9t afenr
J1 ‘ORGANISATION’

(1) NATION )
(3) RECOGNISE 4)

GRANT
SATAN

A HEE 9E A €3 912 e ¥ niyst 3 afenr 3
‘IMMEDIATELY’

(1) DIALECT (2) LIMITED

(3) DIAMETER (4) DICTATE
Ht=-,-=+,+=x,x=+J< 3" 4% U3 q9:-
2+40%x20-8+5

(17 2 7

3) 27 “4) 5

T+ =+,-=x,+=+,x=- I 3" U5 U3 q3:-
16+~ 8-4+2x4

() 16 (2) 28

(3) 32 4) 44

#9 BLUE = 160 3T BOOK = ?
(1) 43 (2) 172
(3) 162 (4) 182

A9 ONE = 15145 ST TWO = ?
(1) 12022 (2) 20211
(3) 202315 (4) 202215

A99Z =52, ACT =48 3T DOG = ?
(1) 25 (2) 52
(3) 42 4) 62

A9 far 3T f&9 FASHION T &3 FOIHSAN 3,
37 @R 3T f&9 PROBLEM T &3 &t 92 |

(1) ROBLEMP (2) PELBORM
(3) PRBOELM (4) RPBOELM



31.

32.

33.

In a certain code language ‘NATURE’ is written as
‘MASUQE’, How can ‘FAMINE’ is written in that
codelanguage?

(1) FBMIND (2)
(3) GANIOE 4)

FZMHND
EALIME

If ‘green’is called ‘red’, ‘red is called ‘blue’, blue’ is
called ‘white’, ‘white’ is called ‘yellow’, ‘yellow’ is
called ‘violet’, then what is the colour of sky?

(1) Blue (2) Red

(3)  Yellow (4) white

In certain code language
125=gotoschool,

615=goto library

532 =runto school,

then what digit is used for ‘go’?
1H 1 2) 3
3 2 4 6

Directions: (Questions 34 - 36) In each of the following
questions the second number in the first part of the bears a
certain relationship to the first number. Similarly, one of the

numbers in answers bears the same relationship to the first
number in the second part. Choose the correct answer to
complete the problem that can replace 2’

34.

35s.

36.

3:11::7:?

(1 22 2 29
3) 51 4 37
8:28::64:?

(1 38l 2) 126
3 125 4) 216
20:11::?:52

(1) 101 (2) 104
(3) 102 4 99

Directions (Question 37 - 40) Find missing term :

37.

24| 3 |15

?10 /48

80[63[35

(1 18 2 8
3 7 4 19

31.

32.

33.

A9 faA 3T &9 NATURE ® &3 MASUQE 3,
3t @R 3T S FAMINE T &3 off 32ar |

(1)  FBMIND (2) FZMHND

(3) GANIOE (4) EALIME

(1) & (2) %
(3) s (4) fder
faryAIA a3 &g

125=gotoschool,

615=goto library

532 =runto school,

3t g0’ BT faazT id Taf3nm Frear?
(H 1 (2) 3
3) 2 4) 6

fsgem: (YAs 3: 34 - 36) Jo' i3 99 yrat f&g mifimr
&% 2 8t Heu g=@Et I 1 1 fE3 feqwut f&9° At feamy &

9T a9 far o7 A yrs ugT I A<
34. 3:11::7:7
(1 22 (2) 29
(3) i (4) 37
35. 8:28::64:7

36.

(1 81 (2) 126
(3) 125 (4) 216

20:11::?2:52
(1) 101 (2) 104
(3) 102 4) 99

fagem (Yms 37 - 40) JU3 UL U™ &9:

37.

241 3|15
?10 |48
80163|35
(1 18 2 8
3) 7 @ 19



38

39.

40.

41.

42.

43.

7 12849 38
9 145|81
8136 ?
(1) 64 (2) 54
(3) 91 (4) 84
2 4 2 39
10 32 ?
1 4 2 6 1 5
I 9 ) 12
(3) 18 4) 24
3 3 40.
2
5 7 4

(1) 25 2) 35
(3) 40 4) 49

How many 9’s are there in the following number 41.

sequence which are immediately preceded by 6 but

not followed by 4?
954269436953598439692406943
(I 6 2 4

3 1 “4) 2

How many 4’s are there in the following number 42.

sequence which are immediately preceded by 7 but

not followed by 3?
59321742697461328741383256743987463
1B 3 2 6

3 4 “4) 5

Deepak is standing in a queue in the bank to 43,

withdraw money. His position is 17th from back end
and 6th from front side. How many total persons in
the queue?

(1) 20 2 21

3) 22 4 23

7 128149
914581
8136 ?
(1) 64 (2) 54
3 9 4) 84
2 4 2
10 32 2
1 4 2 6 1 5
1 9 2 12
3) 18 4) 24
3 3
2
5 7 4

25 (2 35
(3) 40 (4) 49

5 fodt 5t fe'g wix 9 f&"st T wir@er T Ae™
8r3" ufgst »ix 6 I° Us gmE &9 nix 4 &

TR
954269436953598439692406943
(1 o6 (2) 4
(3) 1 4) 2

I foft &t fo™g nix 4 &3t T79 Qe T 7
8r3" ufgst nix 7 IR U FmE  fSe nix 3 &

e 39
59321742697461328741383256743987463
(H 3 2) 6

(3) 4 4) >

¥ f$9° UA qee8T ae dhux T 379 &9 fues
UR 17T ATS T IMI @B UH 3 6 2 |1I39
fe'g g a3 fenast 951

(1) 20 (2) 21

(3) 22 (4) 23



44.

45.

46.

47.

48.

49.

50.

Harmeet is standing in a queue to take ticket at a
railway station. There are total 47 persons in the
queue. His position is 35th from back end. What is
his position from front side?

(1 13 2) 16

3 12 4 18

Which word from the following words is at
third place when arranged in dictionary order.

(1)  Credential (2) Creed

(3)  Crease (4)  Credible

Which word from the following words is at second
place when arranged in dictionary order.

(1)  Partition )
(3)  Parlor 4)

Passion

Participate

Arrange the following words in meaningful
sequence and choose the correct answer:

(i)  Birth (i)  Death
(ii1) Marriage (iv) Education
(v)  Disease

(1) i,iv,ii,vii (2) 1,1v,11,, 111
3) iiviiLi,v (4) 1,1i1,1v,v,1i

Navjot is going toward south. He turns Right, then
again turns left, in the end he turns left. Now in
which direction is he facing?

(1)  North (2)  South

(3) East (4)  West

Salma walks 20m toward west from his office. She
turns right and walks 13m and then walks 20m
towards East. Then she turns right and walks 13m.
Now how much she is far from starting point.

(1) 26m 2) 22m

3) 20m 4) 33m

Ashok is son in law of Maya. Nirmal is wife of Ashok.
Asim is son of Nirmal. Manju and Chinki are sisters
of Asim. What s relation of Maya with Chinki?

(1)  Maternal grandmother

(2) Maternal Aunt

(3)  Grandmother

(4) Aunt

44,

45.

46.

47.

48.

49.

50.

JB ACHS 3 JoHi3 feae = et fuzelt 3 ugr
31339 S99 5 47 fonia3t 95 m3 T3 fugs
UH 3 35 T AES 3 Jifeae fuzdl 3 g9z
foae A 3T

(1 13 (2) 16

3) 12 4) 18

SATT REE At 8T T ?
(1)  Credential 2)
(3)  Crease @)

Creed
Credible

J5 fou mEet § HEEX H H WigHS &9 3 ©H
TAIT HEE A n@er T ?

(1)  Partition 2)
(3)  Parlor 4)

Passion
Participate

I for maet § »ivw YIs 39319 Re ses A 3

(i) 7oH (i) ¥3
(iii) fenmrg (iv) fAfar
(v) gtHrat

() iiviii,vii 2)
(3)  iiviili,v (@)

i,iv, i, v,
it iv, v, i

sens ey fomrre® vAA faor 318 AR uA
HZ famr feg €o ¥9 uR W= famr »iz o v
U HF fomr 1sens v o o= fan ferr fRe 37
(1 €339 (2) ©uT

V)

(3) ya (4) daH

ABHT U TE39 3 20 Hiea Ua=n 35 It ifes
89 ¥¥ uh ¥ HF ¥ 13 Hieg It Ifes €g 20
Hies you 3% 98t Ifes RS AR U R B U X 13
Hies €t gt 31 dlist 1 o= Bu nidfsw fiig 3 i &t

gARAIF?
(1) 26HeT (2) 22 Hieg
(3) 20HeT (4) 33 Hteg

HEn o7 ATl iR I Inhx @ U3l foons
T | fooHs T UST wiFtH T 1nrty Snff € 3=t g
3 st 95 | Hfemr, fg'st € &t Saret T

(1) @t

(2) WA

(3) ==t

(4) gt



51.

52.

53.

54.

5S.

56.

57.

58.

Darshan is son of Asha. Arsh is son of Darshan.
Bittu is sister of Arsh. Neena is mother of Bittu,
Kittu is daughter of Neena. What is the relation of
Asha with Kittu?

(1)  Maternal grandmother

(2) Aunt

(3)  Grandmother

(4)  Maternal aunt

If the day before yesterday was Monday, What will
be the day after tomorrow?

(1)  Friday 2)
(3) Monday 4)

Saturday
Tuesday

A cube of a side 12¢m is cut into small cubes of side
4cm. How many small cubes of side 2cm can be
formed?

1 9 2) 16

3 27 4) o4

The ratio of areas of two circles is 9:25. What is the
ratio in their perimeters?

(1) 34 2) 35

3) 916 4) 9:25

The month June of a year starts with Tuesday.
Which is the first day of September?

(1)  Tuesday (2)  Wednesday
(3)  Thursday (4)  Friday

If 1st January 2020 was Monday, then what day of
the week was it on 31st December 2021?

(1) Monday (2)  Wednesday

(3)  Sunday (4)  Friday

Which of the following years is aleap year?
(1) 1700 (2) 2300
(3) 3800 4) 3200

If 25th of November in a year is Thursday, The
number of Mondays in November is?

1 3 2 4

3 5 “ 6

Directions (Question 59-64)
Answer the following question by reading the given
statements:

51.

52.

53.

54.

55.

57.

WTHET T Y39 TIAG JITIHS T Y3T WiOH
3 1n9m €t 3= fig T I1fig S w3t steT T 18t &t
ot fa'g I 1o, filg <t ot Saret T

(1) a3
(2) 3=t
(3) =t
(4) M

fa9 3 a® 3 fe7 fos ufost e At 3

MBE T d@ 3 amiE fxagT fes J2arm?
(1) Hoded (2) Holeg
(3) FHEI (4) Hassg

f&x 12 AH 37" T3 WT § 4 AN 37 T8 8¢ WSt

o de= 3 95 A3 w= g=ad1?
(H 9 (2) 16
3) 27 (4) o4

¥ g9 € U39S €9 nigu3 9:25 J18T5T T

ufgrmyt f&g nigum3 ot g2ar?

(1) 34 (2) 3:5

(3)  9:16 (4) 9:25

far A fe'g g6 = Hdle™ Hasee g Hg der
3 1 ASE9 T HdteT fan fes By 9=ar?

(1)  Haseg (2) do=9

(3) e (4) Haded

%9 1 AB=t 2020 § AHSS HI, 3T 31 TRE9
2021 3 faga fes I=ar?

(1) FHRS (2) gued

(3) wnEeg (4) Hogeg

Tt fofemrt At f88° &y ov s fxasT 32
(1) 1700 (2) 2300
(3) 3800 (4) 3200

A9 faR A 25 5299 § di9=9 9 It A A
s<g9 f'v a3 Averg 3=ar?

(1 3 (2) 4

3) 5 4) 6

fosoem (YA 59-64)
It fe'st Arearat § AHS I yrst @ €39 8-



(i)

(iii)

(iv)

™)

59.

60.

61.

62.

63.

64.

65.

66.

Shama and Mohini can play Sitar, Piano and Tabla.
Mohini and Surinder can play Sitar, Tabla and Veena.
Surinder and Lalita can play Sitar, Violin and Veena.
Lalita and Manju can play Violin, Piano and Veena.
Shama and Manju can play Violin, Piano and Tabla.

Who can’t play Veena?

(1) Shama (2)  Mohini
(3)  Surinder (4) Lalita
Who can’t play Piano?

(1)  Shama (2)  Mohini
(3)  Surinder (4) Manju
Who can’t play Violin?

(1)  Shama (2)  Mohini
(3)  Surinder (4) Lalita

Who can play Sitar, Tabla, Veena and Piano?
(1) Manju (2)  Mohini
(3)  Surinder (4) Lalita

How many music Instrument each can play?
1 3 2 4
3 5 A3) 6

How many total instruments are there?
¥ 3 2 4
3 5 3) 6

A, B, C, D and E has different heights. D is only
shorter than B. E is shorter than A and C. Who is the
shortest of them

1 A 2 C

3) D 4 E

If1+4=9,2+8=18,3+6=15then7+8="
(1 15 @ 23
3) 32 4) 30

(1)

(i)

(ii)

(iv)

(v)

59.

60.

61.

62.

63.

64.

66.

T5 |

T5 |

Afded 3 BBz 39, ofess w3 ST =7
AT IS |

T5 |

T5 |

AT &= st AT ARET?

(1) ®H (2) wfgat
(3) mfdeg (4) ®f®3T
furs &= &t = T AET?

(1) ®\H (2) Hfgat
(3) nig=s (4) Hg
Tfews 3= 5dF T AKET?

(1) &= (2) wfast
(3) Hfg=g (4) Sf®3r
frsTa, 3g®T, ST i3 fumrs ds 7 AgeET?
(1) ¥y (2) Hfadt
(3) wie=Es (4) ®fssr

II X T XS HINSx A AT AFET I 7

(1 3 (2) 4
3) 5 3) 6
& fAs AR I5?

(1 3 (2) 4
3) 5 (3) 6

ABC,DMIEIHIYET R T I5IDATH B I
eI EEAM3ICT E I8 AT s 3
g = I?

(1 A 2 C

3) D (4) E

FIG144=9,2+8=18,3+6=153,37+8=1
(1 15 (2) 23
(3) 32 (4) 30



67.

68.

If85+25=50,97+65=93, then 72 +94 =2
(1) 67 2) 40
(3) 50 @ 97

Identify the diagram that best represents the
relationship among Earth, Sea, Sun.

0 @D. S

(1) 2

Directions (Question 69 - 72)
Understand the given figure and answer the following questions:

Rectangle = Male, Triangle = Educated, Circle = Urban, Square

= Civil Servants
7
4
8 6/13
9 11 14

69.

70.

71.

72.

/s N\

Who among the following is an educated male who
isnoturban resident?

(1 4 (2) 5
3) 9 ) 1

Who among the following is neither a civil servant
nor educated but is urban and not a male?

1 2 2 3

3 6 @) 10

Who among the following is a female, urban
resident and also civil servant?

(I 6 @ 7

3 10 4 13

Who among the following is an educated male and
also urban resident?

(1 4 2 5
3) 2 4 1

67.

68.

AIT 85 + 25 =50, 97 + 65 =93 3T, 372 + 94
=7

(1) 67 (2) 40

3) 50 4) 97

€n 939 & 5 &< # usst, mise w3 oA fe
AJt Agu g IR ET 99

00 @D. S

(U] @

fossem (yAs 69 - 72)
Jo &3 939 & firs &% ug & fe'3 yHet © €39 feb:
ez = y 97, f3de = uz feu, Jag = Afadt, =91 = Agardt

PGS

69.

71.

72.

7
2 |1

8 6/13

9 11 14
/ 5 \
5 faftmrt 235 fagzr yam ufgnr feftmr 3, ue
Afgdt a3 v 5dt?

(H 4 2 >

3) 9 (4) 11

T foftmrt &9 oz Ao s ST AR A 89 T

w3 & It ufg i st et ?
(1 2 (2) 3
(3) 6 4) 10

37
(H 6 2) 7
(3) 10 4) 13

I5 Tt 28° faagr et ufgnr fefar w3
Afodt a39 e 3?7

(1 4 (2) s

(3) 2 4 1



73.

74.

75.

Count the Number of triangles in figure:

V4

(I 6 2 7
3 8 % 9

Count the Number of triangles in figure:

(H 8 2 9
3) 10 @ 12

Count the Number of squares in figure:

1 12 2) 14
(3) 16 4 22

10

73.  foze f¥e fa g ot et o

(1 6 2 7
(3) 8 4) 9

74. fo'sofRe f3 gnt <t fa=st on:

(1) 8 2) 9
3) 10 4) 12

75. fozg &g =gar <t fa=st &R:

(1 12 2) 14
(3) 16 4) 22



76. Count the number of cubes in given figure:

10
16

(M
3)

18
20

2
“4)

77. Count the number of cubes in given figure:

69
144

(1
)

180
84

2
“4)

Directions (Question 78-80)

In each of the following questions choose the correct mirror-
image of figure (X) from amongst four given alternatives.

8. Question Figure Answer Figures
A
N BN
: o ®
w B ) @ (3} @)

&

@

&

)

€

gle

“

&

&

76. fosg ffowst S fast<n :
(1) 10 (2) 18
(3) 16 4) 20
717. fosg ffgwstdt farst<n :
(1) 69 (2) 180
(3) 144 (4) 84

fossem (yas 78-80)
Jot fe'3 fo39 (X) T /i © ota ySifay &t i3 feawut &7
T AT

78 Question Figure Anlv.:n' Figures
A
Ol (636 |
: ® ®
w B ) @ (3) @)

&

&)

&

S

“

O

gzli=s

e

(4] {2) 3

11

Q| [

(Bd] {1} {2) 3 #



Directions: (Question 81-83)

In each of the following questions choose the correct water-
image of figure (X) from amongst four given alternatives.

81. Question Answer Figures
Figure
b 4] " 2 3) (4)
) % % % % %
X (1) 2 (3) @
83.

X} 1) @ (3} (4)

Directions: (Question 84-87)

In each of the following questions a part of question figure is
missing. Choose the correct answer figure to complete the
question figure that can replace ?’

84. Question Figure Answer Figure,
] DA
" )
" @ 13} 4
85.
@
o |7
o vy o 0O P
0|0 O Q| ©
U] @ @ . @
86. 4 D
4| b
> pla | o] <
Y| 6] alv ﬂ

m 2) [T

12

fogem (Yyrs 81-83)
ot fe3 fo39 (X) T Ut ¥ oix y3ife's & fe'3 fegeut &8
T AT

Question Answer Figures
Figure
81
4] (&l {2) (3) (4)
i % % % % %
(X) n (2 (3) )
83

X

fagem: (YA 5: 84-87)
Jo fe 3 TWayAs e o yas o sg enfeasarsuz J1 &3
I

(X) (2) (3} )

84 Question Figure Answer Figure,
| V) A
P
o @ 3) 4)
85
O
o |7
o A7y O O 0
0|0 0 0| OJjo
M B ‘ @
86. 4 D
41| b
> b1 4 ISR,
V%] (2] Tale e }

m @ @ @



87.

iv)

?

(1) 2 () @)

Directions: (Question 88-90)
In each of the following questions, out of 4 figures, three are

87.

iv)

?

(1) 2 () @)

fsgem (yrs 88-90)
Jot fe3 g9 fasgi f9 375 fdsg fam gar o 8 fAd I3,

similar in a certain way and one is not like others. Find out the oo fiy fiftg filgsg 2y I, ufizgdt s ag
figure which does not belong to the other three figures.
88. 88
O O O O
i(1) X ) @) i(1) X (] @
89. P 89 P
11 7 = 11 7 -
N\ — /, N\ — /,
\\/7, = /) \\/7, = 7
41X =] X~ /// ] 7 X = | - /// |
= 72N N = 72N Q
= 4 (i N = 4 (i N
(1 2) [ @ (1) b [ @
90. , 90
W o B @) [0 @) B @)
PART-2 (SAT)
91. Which Intrument is used to measure atmospheric ~ 91. IS8T g9 § HTUE Bel fan o=t 293" dist
pressure. qHa -
(1)  Voltmeter (2) Lactometer (1) Sseptes (2) Baaites
(3) Manometer (4)  Stethoscope (3) PEted (4) WEERSU
92. What is S.1. Unit of Current? 92. Fde el S 1. fearet &t 37
(1)  ampere (2) Joule (1)  wHUPHT 2) @
(3)  Orsted (4) Ohm (3) WMTIHSTF (4) &Gav
93. Ramesh pushed a book lying on table. [t moved toa  93. I 3 HT 3 uet feq fagg & afenr 3t faga &=t
short distance and stopped. Which force is behind I ST T A IS IrEt IHfAT faH 9% s dfemT?
this act? (1) JES'Ts (2) forsdtes
(a)  Gravitational Force (b)  Electrical Force (3) dI=TH (4) Buazfeeas
(c)  Friction (d)  None of'the above =t

13



94.

9s.

96.

97.

98.

99.

100.

101.

If angle of incidence is 45' then what will be the
angle of reflection?

(1 60° 2 90’

3) 45 4 50

Meena saw a rainbow after rain. How many colours
did she see?

I 7 2 4

3 6 @ 5

Energy possessed by a body due to its motion is -
(1)  Kinetic energy 2)
(3) Potentialenergy  (4)

Nuclear energy
Thermal energy

In sun, hydrogen is Converted to -
(1)  Helium 2)
(3) Oxygen @)

Cabron
Nitrogen

Reciprocal of time period is called -
(1)  Amplitude (2) Pitch

(3) Wavelength (4)  Frequency

When the object is placed between f and 2f of a
convex lens, the image formed is -

(1) atf (2) at2f

(3) Beyond2f (4) BetweenOandf

A bomb is dropped from an aeroplane moving
horizontally at a constant speed. If resistance is
taken into consideration, then the bomb -

(1)  falls onearth exactly below the aeroplane

(2) fallsonthe earth behind the aeroplane

(3) fallsontheearth ahead of the acroplane

(4)  flies with the acroplane

A hot and a cold body are kept in vaccum separated
from each other. Which of the following causes
decrease in temperature of the hot body?

(1)  Radiation (2)  Convection
(3)  conduction (4)  Temperature
remains unchanged
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94.

95.

96.

97.

98.

99.

100

101.

HAg MUt < 45° & It ugredfaI de faarg=ar|
(1) 60 (2)  90°
(3) 45 4) 50°

Jarfew -

1) 7 (2) 4

(3) 6 (4) 5

fan =ng fe'g ot aras Uer ot @aar I-
(1) afgagaar 2) fs@a®t@amr
(3) mfafaagenr (4) 3IUGanAr
AoAfegodisras _ f<osueEisd«dia-
(1) dSPH (2) d9ES

(3) WIHIAS (4) &ERHAS
eI T B Bt qur@erd -

(1) T 2) fus

(3) IJarHIE (4) wr=a3t

Ao eng g Ta @ sm Bue w3 2f © fegag afumr
Ay, 3t Siffe faggserg-
(1) 3 (2)
(3) 2fFugt (4)

of 3
oOmM3 f Sfegag

g=ret Ao fe9 feag fg pfenr mer J1ger € ySisy
3 forsfegsye e enfagy-

(1) ITEATHE It fSaEr

(2) g=EtAgHE fuUs ua3t 3 faaar

(3) IIEATTH I M g3t 3 faaEr

(4) TTEFTHESS G

g It famr 3195 fod fF fan a9 I @Rg
T ITUHTS WEaTT?

(1) fefage (2) nfo=
(3) U85 (4) IJUHEEIT
OB



102.

103.

104.

105.

106.

107.

108.

A Wooden spoon is dipped in a cup of ice cream, its
otherend -

(1)  becomes cold by the process of conduction.

(2)  becomes cold by the process of convection.

(3)  becomes cold by the process of radiation.

(4)  doesnotbecome cold.

Phases of moon occur because -
(1)  we can see only that part of moon which reflects
light towards us.

(2)  ourdistance from moon keeps changing.

(3)  the shadow of earth covers only part of moon's
surface.

(4)  the thickness of moon's atmosphere is not
constant.

Which special plastic is used for non - stick coating
on Cookwares.

(1)  Teflon 2)
(3) Melamine 4)

Polythene
Bakelite

Which is very reactive non metal stored in water as
it catches fire if exposed to air.
(1) Carbon 2)
(3)  Chlorine 4

Sulphur
Phosphorous
Metals react with Sodium hydroxide to produce gas

(T Hydrogen 2)
(3)  Nitrogen 4)

Oxygen
Carbondixoide

Which of the following substance is not prepared
from Petrochemical.

(1)  Polyethene 2)
(3)  Synthetic fibres @)

Detergents
Paper

Which gas is produced by incomplete combustion of
fuel.

(1)  Carbondioxide

(2)  Sulphurdioxide

(3)  Carbonmonoxide

(4)  Hyrogen
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102.

103.

104.

105.

106.

107.

108.

Badl e fEq ang § mretagii € fund feg safenr
farur J1ferergar frer -

(1) T B&TISSESITI A=

(2) FAefdeaasdaTIaA<ar

(3) fefagsaasdzTdaA=ar

(4) BFT&ITI=ari|

s It et eraas I fa -

(1) MM IST IS ETIINTYRIT T AT TS
YaH S Ug=af33 gaer J|

(2) At gEeHT 3 gdt gesel IfgEl

(3) udStEtEfor gear eI Iarg dedel J|

(4) J¥HT € TUEB & Heret fed ms adt
afdet|

IS U< & 993aT €3 &7 fouas =8t yag 35

fafimt feg fam ushfea S 31 31
(1) =TS (2) uUsHEs
(3) WBHEE (4) SImTEle

faoftmaa § uet feggefiymz IfmmraerJiger
fSoyg sy 3 feomuaniares 3t 3

(1) d99&s (2)
(3) TBdts (4) THSIH

H&%<d

T3t st oS anrels &7 fafer aga faostam
e Jaeii 95 -

(1) JEFIAs (2) WIAHAS
(3) &Tetedds (4) T9E&s
SEMTIATET

g farnri
(1) ugHs (2)
(3) FHfEHIIH (4)

WUI TBE € 9B 55 faustdmasetJi
(1) JIIESEHIATES

(2) HBSISEPATHTES

(3) AFIE HEHTIATES

(4) TEEIHS



109.

110.

111.

112.

113.

114.

115.

116.

When we heat Sodium bicarbonate (Baking Soda)
which gas is produced.

(1)  Carbondioxide
(2) Oxygen

(3) Hydrogen

(4)  Carbon monoxide

Which product of destructive distillation of coal is
used to prepare Naphthalene balls.

(1) Coke 2)
(3) Coaltar 4)

Coal gas
Machine Oil

Which one of the following option is not
inexhaustible natural resource.
(1) Sunlight 2)
3) Air 4

Water
Forests

Phenolphthalein is a base indicator when we add
phenolphthalein in basic solution. The Colour of
solution becomes.

(1)  Green Colour )
(3)  Colorless 4)

Pink Colour
Orange Colour

Which of the following is not natural indicator.
(1)  Litmus paper 2)
(3) ChinaRose 4)

Turmeric powder
Phenolphthalein

In our stomach which gastric acid helps in the
digestion of food.

(1)  Hydrochloric 2)
(3) Nitricacid 4

Sulphuric acid
Calcium hydroxide

What is the Chemical formula of lime water.
(1) CacCo, (2) CaO
(3) Ca(OH), 4) Co,

For galvanization, which metal is deposited over the
surface of Iron.
(1) Zinc (2) Iron

(3) Magnesium (4)  Copper

109.

110.

111.

112,

113.

114.

115.

116.

AStY getaragae (Sfdar #3T) dPH s 3 faost

dnleragerJ|

(1) JATISSEATIATEF
(2) IHAS

(3) TEFIHS

(4) TIISHEHIHTEF

dcuBlE Tt JiEtt a8 € IHs war YU fan

€us 3 gfomr Aiet 35|
(1) & (2) dBTIH
(3) dB39 (4) MWHIBI3®

Jo fafunt feg fagsT &7 MUz 3 =% geddt
AUS &4t J1
(1) HIAEYIH (2) uret

o

(3) d=T (4) HI&

S3zedsls feq udt goa T feg yd Ww e &

Fgféeryl
(1) gJdarer (2) gBEIIaTE"
(3) dardts (4) &Tgaitdarer
35 fafiprr feg fagsr gt g 54t 91
(1) fesamuiug (2) B
(3) wrEtsTIA (4) dSzeEsls

A3 Ue € wed fagsT dmfed 379 §76 § I a9
fegmofegrager i

(1) TEsadfed (2) nsfeQfeanfrs

(3) aElfeanfs (4) dBHMH TEST
HIATES

ge eyt eranfefea gaa at 1

(1) CaCo, (2) CaO

(3) Ca(OH), (4) Co,

HBWETS (galvanization) 95 BT faust o &t

I ST A I

(1) fAa (2) &I

(3)  HaTSTHPH (4) g



117.

118.

119.

120.

121.

122.

Which of the following are Prokaryotes?
(1)  Protozoaandblue green

(2)  Fungiandblue green algal

(3)  Protizoaand bacteria

(4)  Blue greenalgal and bacteria

Salts and Oils are commonly used as preservative,
which of the following are used in jams and squash

to check their spoilage.

(1)  Sugar (2)  Sodium
Metasulphite

(3) SodiumBenzoate (4) Allofthese

Which of the following is not responsible for causing
Global warming?

(1)  Ozone Layer 2)
(3)  Methane 4)

Jetplanes
Carbondioxide

Match Column A with Column B

Column A Column B

(1)  Chicken pox (a)  EdwardJenner
(2)  Rustofwheat (b)  Fleming

(3)  Antibiotic (c)  Fungi

(4)  Vaccination (d)  Virus

1 (hHhd 2)a 3)b “c

2 (hHa 2)b B)c @&d

3 (hhd 2)c B3)b @#a

4 (hHhd 2)b 3)c @a

Arrange the agriculture practices in proper order.
A- Storing grains, B-Harvesting, C - Sowing D -
Irrigation, E Ploughing, F - Adding manures.

(1) ECDFAB (2) ECFDBA

(3) ECFABD (4) ECDFBA

Which of the following blood vessels carry blood
from heart to lungs?

(1)  Pulmonary Vein  (2)
(3) Capillaries 4)

Pulmonary artery

Superior Vena Cava
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117.

118.

119.

120.

121.

122.

35 fevt feg faol adiSenas?
(1)  Jeum w3 313t gt meatt
(2) BT MBI I €BT

_— -

(3)  Yerdm w3 SaetatmT

(4) BB T Bt WS FadT
BHI M3 'S BT IS MH 39 3 Ufaafema @ 393
T3 AE IS, IS IRt § B T3 TUS BE1 96

fofunt feg far &t =93 oSt AtEt 7
(1) 63 (2) RS
HeR®eTfee

(3) ASPHEHEe (4) fegwgat
SATJI

(1) €dAsusz (2) HATHIH

(3) HEs (4) g9gs
STEPHIATES

TBHA S TBHB &S HE Q|

TBHA IBHB

(1) fogsUam(E9d) (a) WI<IFHIGT

(2) STt (b) eBfiar
(3) yIefea (c) €=t

(4) &ar @ feme
1 (Hd 2)a ()b  (4)c
2 (Da )b ()¢ (4d
3 (1)d ¢ ()b  (@a
4. (1)d )b B3)c  (@a

HY 31 Unstit § Efes seslg fea fadiA - =<
§3798, B - =<, C - faaret, D - fie<t,E - 0%
TgeT, F-yeyge|

(1) ECDFAB (2)
(3) ECFABD (4)

ECFDBA
ECDFBA

Jo fafiprr feg fagst sz =fosifes S ys Bades
ITAEI?

(1) <ezrfEar (2)
(3) dfFar (4)

TSSTONST
HaTfEaT



123.

124.

125.

126.

127.

128.

129.

130.

Villi are presentin which Organ? 123.

(1)  Small Intestine (2) Liver
(3) LargeIntestine (4) Pancreas

The Coloured Organelles which are found in plants 124.

are
(1)  Chlorophyll (2)  Vacuoles
3) WBC (4)  Plastids

In which part of male reproductive system, sperms 125.

are produced.
(1) Ovary (2)  Spermduct
(3)  Testes (4) Fallopiantube

Seeds of drumstick and maple are carried to long ~ 126.

distances by wind because they possess.
(1)  Wingedseeds (2) Large & hairy seeds
(3) Long &ridged fruits (4) Spiny seeds

Which of the following is a migratory bird? 127.
(1)  Parrot (2)  Surkhab

(3) Maina (4) Pigeon

The stoppage of menstrual cycleis a 128.
(1)  Menarche (2)  Menopause

(3)  Menstruation (4)  Noneofthese

Which of the following statement is / are True for 129.

sexual reproduction in plants?

(i)  Plants are obtained from seeds

(ii)  Twoplants are always essential

(ii1)  Fertilization can occur only after Pollination
(iv)  Only insects are agents of pollination

(1) i&ii 2) i&iv

(3) onlyi @) 1 &iii

In old and woody stem, gaseous exchange take place 130.

through.
(1)  Lenticels (3) Roothair
(3) Stomata (4) Donotrespire

18

IAwgd fa g fHse gs?
(1) &dtnieg (2) frae
(3) <Stwieg (4) B

Ufent feoue Are 8 99 faas varfaas aa?
(1) TBdfe® (2) IHTTSPHT
(3) HEEBYHRS (4) umTHfes

Ha U fe g yres yerat € fan gar fe g gagrenrer
fsaregerd?

(1) WSaw (2) @agEfaet
(3) wW3IE (4) IBisfeGy

€28 M3 AYAS € HiH =" 5% g9 3d 98 A 76

fa@fa Qostas JeIs|
(1) Yg=sdd (2) TIUITHITH
g9

(3) BIMIUITH (4) o3eTHH

Jo fafiprt {5 faggr y=mt It 31

(1 337 (2) HIuH
(3) WaT (4) IgI9
WA SqeegaAEy WHE IS |
(1) FAeIwHs (2) gnfafest

(3) HfAIIAd (4) feostfes Ietsat

faggraus At 31

(i) dedAIFyuI T AT TSI

(i) TUSIHE AN IT TSI

(i) fEH9s fafodT a=s uaraie I gme g€t J1
(iv) fresdEtuTocdes T T TS|

(1) imMIii (2)  iMIiv

(3) dA=Hi (4)  imMIiii

Ya'e W3 Aug Ifenit f&g IF <t niesT - gesl fegr
gt g€t 3

(1) BWS (2) #7g B
(3) HeHer (4) WIS BE



131.

132.

133.

134.

135.

136.

137.

138.

In a 10+1 Class of a school out of 780 total students
55% students are of Science stream. The remaining
students are of Commerce. Find the number of
students of Commerce stream.
(1) 351 (2)
3) 531 4)

426
249

(x-y) (y+x) +(y +2z) (y-z) + (z-x) (x+z) equals to.
1 1 2 0
(3 xty+z 4) x+y+tz

What is the volume of a Cuboid whose length,
breadth and height are 5xy, 4x’y and 7x'
respectively.

(1) 140x’y’ 2 o0

(3) 140x‘y’ (4) 140x’y’

The value of (0. 68) - (0.32) *is
1 -1 2 o
3) 1 (4) 036

What could be the possible one's digits of square
root and cube root of 729 respectively?

(1) 3and7? (2) 7and3

(3) 7and9 (4) 9and7

How many Cuboids with sides 5 cm, 2 cm and 5 cm
areneeded to make a Cube?

(H 20 2) 50

3) 10 4 15

When a dice is thrown once, then what is the
probability of getting a multiple of 3?

(1 2

) “4)

W= O\l
N = O\

If the product of (4x + 4) and (x +4) is ax *+ bx + ¢,
then whatis the value ofa+ b+c¢

(1 12 2) 28

3) 34 4) 40
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131.

132,

133.

134.

135.

136.

137.

138.

fea rg® €1 10 + 1 a@H 9T 780 fefemmagint
feg 55% fefemradt ATfen Aed feT use g5 | It
fefenagt aHaR AedH USE I&| IHIH AN &

fefenmagtnt €t fares3tusTag|
(1) 351 (2) 426
(3) 531 (4) 249

(x-¥) 7+ X) + (y+2) (y-2) + (2-%) (x+2) TEEIFET:
(1 1 (2) 0

(3) xX+y+7 4) x+ty+z

feq were o »irfegs of g9 fan<t Saret, 93
w3 9 5xy,4x yand 7x * T

(1) 140x’y’ 2 o
(3) 140x‘y’ 4) 140x’y’

(0.68)*-(0.32)* ST B A F2ar
(1) -1 2 0
(3) 1 (4) 036

Aftpr™ 729 € TIIYB M3 WSHS € JHIT HI'=T
fearet S W St I RIS TS|
(1) 3mM37 (2) 7mM33
(3) 7M39 (4) 9MI7

fEqwe g€ B, 4 A, 2 AN S S AN IA=T <8

f&& weret <t Ageg I=an?
(1) 20 (2) 50
(3) 10 (4) 15

IJSAYYI T & T AgresT d=ait?
1 2 2) 1
6 6
1 1
(3 3 4) 2

H9T (4x +4) M3 (x + 4) T ISHEH ax’ +bx-+c, T 3T
atb+cEHF AT T=a?

(1) 12 (2) 28

(3) 34 (4) 40



139.

140.

141.

142.

143.

144.

145.

How many faces does a solid have, which is formed
by joining two cubes.

(1 6 (b) 8

3) 10 @ 12

If a Polyhedron has 4 faces, 4 vertices and 6 edges,
then name the polyhedron.

(1)  Rectangular Prizm.
(2)  Triangular Prizm.

(3)  Rectangular Pyramid
(4)  Triangular Pyramid

Which of the following is wrong

(1) (atb)’=(a’+b’+4ab)-2ab
(2) (a-b)’=(a’-b’-4ab)+2ab
(3) (a-b)’=(a’+b’-4ab)+2ab
(4) a-b’=(atb)(a-b)
Discount % =
(1) Discount
Market Price

Discount
2 Selling Price <100
(3)  Selling Price - Market Price
(4)  Marked Price - Selling Price

When a die is thrown, the probability of getting a

number 4 is

1 12 2 13

3) 4/6 4 /6

The number of obtuse angles that a triangle can
have:-

1 2 3 1

3 3 “ 4

If30% of x is 72, then x is equal to

(M
A3)

120 (2) 240

360 (4) 480
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139.

140.

141.

142.

143.

144.

145

et FAZJ 9SS SHeesar o faret faast a=aft?
(1) 6 (2) 8
(3) 10 (4) 12

Hod fea ggesa © 4 35, 4 fiyg M3 6 fasd I= 3°
qIeBA T STENH|

(1) wrfegrara fymy
(2) fagmamafyms
(3) wrfegag fusiis
(4) f3garagfuaus
I fafiprt {9 fagaramsa 3
(1) (atb)’=(a’+b’+4ab)-2ab
(2) (a-b)’=(a’-b’-4ab)+2ab
(3) (a-b)’=(a’+b’-4ab)+2ab
(4) a-b’=(atb)(a-b)
FEIT %= oo
CCEil
(1) . — %100
IcER
CCEil
< —— %/
(2) oy 00
(3) <IHF-HASIHS
(4) WMISIHB-TIHS
feT Ui I ges 2 it 4 YUz ges T igTEsT -
(1) 1/2 (2) 1/3
(3) 4/6 (4) 1/6
feq f3gn feg vifua a=t €t Aftnr I AaEt
3l
(1) 2 (3) 1
(3) 3 (4) 4

HATX AT 30% = 72 I 3T x TTYH I<am:-

(1)
(3)

240
480

120 (2)
360 (4)



146.

147.

148

149.

150.

151

152

153

On selling an article for Rs. 100 Kuldeep gains Rs.

20, his gain % is
1)  25% 2) 20%
3) 15% 4) 40%

Which of the following is correct?

M g4 @) ot

__4
3) 0= 9 (4) Noneoftheabove

What will be the length of rectangle if its breadth is

12 cm and perimeter is 36 cm.
(1) 6cm (2) 3cm
3) 9cm 4) 12cm

Which of the following is the usual form of
3.61492x10°?

(1) 3614920 (2) 361492000
(3) 361492 4) 3614920
Mean of 20, 45, 88,99, 17 is

(1) 53.08 2) 538

(3) 583 (4)  503.8.

Who made Avadh an independent statein 1739 AD?
(1) Nizam-Ul-Mulk  (2) Baber
3. Akber 4 Sadaat Khan

When did the Battle of Plassey take place?

1. 23 June 1857 2. 24 June 1857
3. 25 June 1857 4. 26 June 1857
Identify the given picture.

(1) BirlaTemple (2) Zoo

(3) NehruGarden (4)  Jantar Mantar
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149.

150.

151

152

153

feaeng 100 U ST T IBEUF 20 JUE B Jer
JeHET BT %

(1) 25% (2)  20%

(3)  15% (4)  40%

Jo fafiprt f€5 fags Aot 37

(1) O>_% (2) 0<_%

(3) 0:_% (4) dgErStadt

wfeg &t ot ot IO fAAet 93¢ 12 cm WS

ufenmy 36 J1
(1) 6cm (2) 3cm
(3) 9cm (4) 12 cm

FftpHT 3.61492 x 10° 7 AUSS gU faaaT 37

(1) 3614920 (2) 361492000
(3) 361492 (4) 3614920
20,45,88,99,17 STHAI:-

(1) 5308 (2) 538

(3) 583 (4) 503.8

1739 €. f<e nieu g f¥x A339 9 fan & gerfen?

(1) forH-8%-v®a (2) =9

3) niI=Eg 4) mAdEsy
UBTH €t It o 9Et?

(1) 23861857 (2) 24951857
(3) 25951857 (4) 264951857
fega oSt sndicdus=s -

(1) fagwrres 2) fogrus

(3) afegusa (4) #39Hz9
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156

157

158

159

160

161

Which city was made capital by the Britishers in
1911 AD?

(1)  Delhi )
(3)  Nagpur “4)

Patna
Gujarat

How much the qualifying age for civil services
examination was reduced from 21 years in 1876

AD?
(1)  20years (2) 19years
(3) 18years (4) l6years.

Who started Ryatwari arrangement?
(1)  LordDalhousie 2)
(3) ThomasMunro @)

Lord Cornwallis
Lord Ambherset

Tirut Singh was the founder of which tribe?
(1)  TheKhasistribe  (2) The Gond tribe
(3)  TheBheel tribe (4) The Birsa Mundatribe.

Where in India was the first cotton textile industry
established?

(1)  Punjab (2)
(3) Bombay 4)

Haryana
Bangal

Who started the Policy of Lapse in India?
(1)  Lord Dalhousie 2)
(3) LordWarnhesting (4)

Nicholson
Lord Canning

Which Governor General passed an Act 1856 AD
which allowed Indian troops to be sent overseas to
take partin hostilities?

(1)  Lord Dalhousie (2)
(3) Bahadur Shah “

Lord Canning
William Bentick

What type of resources Soil, water, trees and stones

are called?
(1) Naturalresources (2)  Un natural resources

(3) Humanresources (4) Minerals
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1911 &. 38 rigoAt gnrar fan &a@ § MUt Iruat
gErfemr fapar?

() fest 2
(3) BT “4)

Ucor
CIGSISE

1876 8. fg fafes wafen Yifimr fSg do= &

1T 21 ArE 3 yera s A it ardl?

(1) 20H® (2) 19738

(3) 18HS (L) 167 8
FEmET A yEa faRs sradsT?

(1) BI33SIA (2) BIS3ITISEH
(3) FHANHGS (L) BISMHIIAC
33 fiy far a=id T 1St /e

(1) YAAEIHST (2) JdITEIT

(3) FSTHIT (4) faomH IS

7793 f&E gt qus T ufowr Setier fag sfamr?

(1) dUas ) dfomsr
(3) duEt (L) dar®
93 Re 3unasidi fans gg st
(1) BII3BIA (2) foagrs
(3) BIITISIAST (L) BIZ AfSIT

1856 & f€9.....& fod wae U 3™ fAan weAg
I3 Afsa wu feg QT3 s eI Ua A A"
Aae H

(1) BIIISIA
(3) HJ<eIHI

BIZ Afear
fegmn Sféa

(2)
(L)

AT Ut Tdu3 w3 Uae wife faod Aras 7 il
HO?

(1) IeIdtATs
(3) HOHIATS

FICECSCE] Rakero)
yfsquegg

(2)
(L).
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163

164

165

166

167

168

169

170

Which type of resources Coal and oil are called ?
(1)  Biotic and abiotic resources

(2)  Developedresources

(3)  Soilresources

(4)  Landresources

Whatis the percentage of plain land in India?
(1) 46% 2) 43%
3) 41% 4 33%

When the sky clouds fall to the earth in liquid form,
whatis it called?

(1) Ice 2)
(3) Fog @)

Rain
Clouds

When the Indian Board of Wildlife was
established?

(1) 1951 )
(3) 1953 )

1952
1954

Whereis iron-ore found in India?
(1)  Singhbhum (2) Patna
(3) Punjab (4)  Varanasi

Which type of land is required for producing tea?
(1)  Plain (2)  Sloppy
(3)  Deseret (4) Plateau

Where is 80% of India’s Jute grown?
(1) Bihar 2)
(3)  Orissa 4)

Assam
West Bengal

With the exception of which Indian State do all the
states generate hydro-electricity?

(1) Goa 2)
(3)  Orissa 4)

Punjab
Kerala

Which is the largest gold producing country in the
world?

(1) India )
(3) USA @)

South Africa
UK
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Iz 3 35§ faed Aas faoraer 32
(1) A3 fodrie Aas

(2) fegA3ATS

(3) fHa#wus

(4) PHATS

FazTids yFmasanesdids
(1) Lex% (2) u3%
(3) wix (L) 33%

AT e 398 gU R gt €3 SR 95 37 gnd
Stafde s 2

(1) =de (2) =gy
(3) de (L) ©TB
33t ot e g3 < AEnUsT &2 3Tt ?
(1) 1951 (2) 1952
(3) 1953 (L) 1954
393 &g oo Hor fad fimer 7

(1)  frwgH 2) uesr
(3) dAd (4) TIEH

9 Uer 396 BE far fann €t oot S 83 et 92

(1) Hest @)
(3) HgESt 4)

THEEd
ysTat

393 T 80% UeHs faE terger?

(1 fae 2
(3) &3 “)

WHAH
Ut gars

3793 @ fan 9 § &8 & A9 I uT Farest fanre s
I5?
(M

— o

g (2) UAg
3) &t 4) oAI®
AAT o AE 3 0 AsT der 96 % en faagT 37
(1 333 (2) Tustwedtar
3) gaRE. @ ga
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172

173

174

175

176

177

After the Independence to break the chains of 171
slavery for a free and independent India, a book was
constituted. What is the name of that book?

(1)  IndianPenalCode (2) CivilCode

(3)  Constitution (4) Law

On the banks of which river, the resolution of Puran 172
Swaraj was passed under the leadership of Pandit
Jawaharlal Nehru?

(1) Ravi (2) Beas

(3)  Sutlej (4)  Jhelum

Who elected the permanent president of committee 173:-
formed to draft the constitution of India?

(1)  PanditJawaharlal Nehru

(2)  Dr.Rajinder Prasad

(3) BalGangadhar Tilak

(4) LalaLajpatRai

When did the government enact a law to stop the 174
scourge of dowry ?

() 1960 2) 1961
3) 1962 (4) 1963
How many Houses of Indian Parliament are there? 175
(1)  Three 2) Two
(3) Four (4) Five

Which country's constitution was enacted on 176
January 26,1950?

(1)  China (2)  United States
(3) India (4) Russia

In which rule/state all religions are equal and they 177
are given equal recognition?

(1)  Army State (2)  Autocratic state

(3) Religiousbigotry (4)  Secularstate.

24

&E W3 §339 993 B fBa 52 T6s & yAsa
T o =iz famr| @7 ads <t yAsd § &t
fagraerd?

(1) fEEmelesas (2) Aesa3

(3) Ffeus (L) TE&

fan &<t @ &8 3 Ufs3 ATIg % afag &
nAE ST U ARSI AT H3" UA 13" fami?
(m I (2) famrH
(3) w38 (b) fAgsH

I3 T HfeTs g8 BE gt andt © AgE
Yo fam & gfenr famr 2

(1) Afs3ATagg s afag

(2) F.Ifdedym<

(3) U&Jrug 389

(4) BHFBAUIIE

TH € 3Je3 § JaT B ATAI B IC 46
gerfan fapr 2

(1) 1960 (2) 1961
(3) 1962 (4) 1963
gaStAne e fdS Aes de ga?

() f3s (2) =
(3) T9 (L) A

faa3 en © wfeas 26 AT 1950 § &1 &3
famir 7t 2

1) s (2) FHEI3 IAMHIE
(3) 393 (k) gH

HIHd H'e 3 gt At 37

(1) RAaIH (2) IHA339

(3) UIfHddeI3 L) UIHTEIUH IHI
THIH



178

179

180

Which articles of Indian constitution is related to 178
the Right of Equality?

(1)  Article 19-22 2)
(3) Article-14-18 4

Article-23-25
Article-1-4

Which of the freedom is mentioned in the Article 19 179.

of Indian constitution?

(1)  Freedom of Speech

(2)  Freedom of Assembly without arms
(3)  Freedomof Movement

(4)  Alloftheabove.

Which of the following is a secular state? 180
1) China (2) England
(3) USA (4) India

25

I3t Afers ST fao3 wigee AHS3T S wiftarg
&8 AS03 I&5?
(1) Mase- 19-22  (2)

(3) ™oeEe- 14-18 (L)

Eee- 23-25
Eee- 1-L
33t Afeus S8 oo 19 @ weAg fagdt
A33I3 T IS S I 372

(1) U9 Y@ I9a T HS3I3"

2) fa3gI=d 33T

3) YWHE-fads T HI3III

L)  BUIIIHII

I fafemp feo fagg gaHfsaua @R 7
(1) d (2) foa3
(3) "HIEr (L) 3II3
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